

81d2

$$\int_{-\infty}^{\infty} \frac{\cos x}{(1+x^2)^3} dx = \operatorname{Re} \int_{-\infty}^{\infty} \frac{e^{ix}}{(1+x^2)^3} dx$$

lemat Jordana...

$$\int_{\mathbb{C}-\mathbb{R}, \mathbb{R}^+} f(z) dz = 2\pi i \operatorname{Res}(f, i) = \dots = (\ast \ast)$$

$$\operatorname{Res}(f, i) = \lim_{z \rightarrow i} \left( \frac{e^{iz} (z-i)^3}{(1+z^2)^3} \right)' = \frac{1}{2} \lim_{z \rightarrow i} \left( \frac{e^{iz}}{(z+i)^3} \right)'' = \frac{1}{2} \frac{28}{32i}$$

$$g'(z) = \left( \frac{e^{iz}}{(z+i)^3} \right)' = \frac{e^{iz} (iz-4)}{(z+i)^4}$$

g(z)

$$g''(z) = \frac{e^{iz} (-z^2 - 8iz + 19)}{(z+i)^5}$$

$$\frac{ie^{iz} (z+i)^3 - e^{iz} 3(z+i)^2}{(z+i)^6}$$

$$(\ast) = \frac{2}{16i} e$$

$$(\ast \ast) = \frac{7\pi}{8e}$$

$$\frac{e^{iz} (i(z+i) - 3)}{(z+i)^4}$$

$$g'''(z) = \frac{(ie^{iz} (iz-4) + e^{iz} \cdot i) (z+i)^4 - e^{iz} (iz-4) 4(z+i)^3}{(z+i)^8}$$

$$\frac{e^{iz}}{(z+i)^5} \left[ (i(iz-4) + i) (z+i) - 4(iz-4) \right]$$